BAUGROSSE 10

Konstruktionsabmasse
Cotes de montage
Mounting dimensions
Fithrungsrolle Galet de guidage Roller for vee bars
30
21 05 1
‘ —IL1 Fmwmim
5 i DIN 912 8.8 Ma
M6x30 9,9 Nm
<2 r —1 31%8
D
68 &
== Tragfahigkeit / Capacité de charge / Load carrying capacity
Type Part No. Excenter Ga (um) Mat. m (kg) Cow (N) Cwo (N) Cweo (N) Nmax (Min-')
FR 10 900 710 I mm +6/+23 100Cré 1.3505 0,15 5300 4900 1 060 12 000
FRIOA 900 711 I mm —3/+5 100Cré 1.3505 0,15 4800 4 400 950 12 000
FRI10Z 900 712 0 mm +6/+23 100Cré6 1.3505 0,15 5300 4900 1 060 12 000
FRIOZA 900714 0 mm —-3/+5 100Cré 1.3505 0,15 4800 4 400 950 12 000
FRIOR 900 713 | mm +6/+23 X46Crl3 14034 0,15 3900 3700 800 12 000
Ga Axiale Lagerluft, jeu axial, internal axial clearance Weg, Chemin parcouru, Distance: @ 10ém @ 108m
Befestigungsflansch Bride de fixation Mounting flange
briiniert noirgi black oxide
i Slmmmn
11,5 00z (75)
DIN 912 8.8 Ma
M4x12 2,9 Nm
=k EEak
N B 5 =isls
T
145]
Type Part No. Mat. m (kg)
SP 10 902 011 Ck45 11191 0,1
SPE 10 902 040 Ck45 11191 0.07 Seite / Page 01.52
Abstreifer-Schmiereinheit Racleur graisseur Wiper and lubrication unit
235 70

|

60 Fmonmm
45
DIN 912 8.8 Ma
M4x18 2,9 Nm

255

il
75

I

Part No.
900 040

Mat.
PA-6/POM

Type
RA 10

® Olgetrankter Filz
Feutre imbibé d’huile
Oil soaked felt inserts

m (kg)
0,025



Kerim
Rectangle


8 | —-
| =
L /] ]
ob I/ |
2 —
1525 T
Konstruktionsabmasse
Cotes de montage
Mounting dimensions
Fithrungsschiene Rail de guidage Guideway vee bar
R L
5 I .
.;‘ - ’l'll / ‘
ale B 7 @ i '
8¢ la T i © Feen
57| o 5 100
95 e Lo
%
Type Part No. L Lo Li Mat. m (kg) )
FS 100 900 310 1 030 1 032.55 1 000 58CrMoV4  1.7792 1,40 DIN 912 88 Ma
900 311 630 632.55 600 58CrMoV4  1.7792 0,85 M5x12 575 Nm
900 312 330 332.55 300 58CrMoV4  1.7792 0,45
FS 100 R 900 990 630 632.55 600 X46Crl3 1.4034 0,85
Fithrungszahnstange Rail crémaillére de guidage Guideway vee rack

58

; L1
gl o T i 9
et B 1O © ) O]
57 %a 10,11 50
95 \&
94/_6\0
Type Part No. L Li Module P Mat. m (kg) hart, trempé
FZ10G 900055 87022 850 1,0 3,142 58CrMoV4 1.7792 I,I5 Quality
p (mm) Teilung, pas, pitch 6h23 )
Einbau
Montage / Assembly
Seite / Page 01.71
Antriebsritzel Pignon Drive pinion
70
(95) 60,5
2.5

|8 © =

o S = g
Type Part No. z Module p Mat. m (kg) hart, trempé
WR 10.1 201025 25 1,0 3,142 I6MnCr5 17131 0,09 Quality

p (mm) Teilung, pas, pitch 6f24





<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Off
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket true
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Preserve
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects true
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName <FEFF0068007400740070003a002f002f007700770077002e0063006f006c006f0072002e006f00720067ffff>
  /PDFXTrapped /Unknown

  /Description <<
    /ENU (Creates Highest Quality PDF Files, embed fonts with PDF.)
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice




